RIVFR7ZBISVTRIVE « LVF

Clamp bolt + Wrench for Multibore tooling system

25> 7RIV k Clamp bolt L >F Wrench

T b —
AHO-A

G_________-__-’_ _— WSRAERC
A HSK-T

‘ [
C5-1 5021 00115949 M5 X 0.5 6.5 L-2.5T 6080 00115575 =
C5-2 5021 00215375 M5 X 0.5 8.3 L-2.5T 6080 00115575 g E
C5-3 5021 00215376 M5 X 0.5 16 L-2.5T 6080 00115575 § é
C8-1 5021 00132174 M8 X 1 8.3 L-4T 6080 00115576 57
C8-2 5021 00132142 M8 X 1 104 L-4T 6080 00115576 z
C8-3 5021 00132143 M8 X 1 14.5 L-4T 6080 00115576 gﬂ
C10-1 5021 00133113 M10 X 1 14.5 L-5T 6080 00115577 :::)_ﬁ
C10-2 5021 00132144 M10 X 1 17.8 L-5T 6080 00115577 g 2'{

C121 5021 00132145 M12 X 1 16.7 L-6T 6080 00115578 -

C16-1 5021 00132146 M16 X 1.5 19.8 L-8T 6080 00115579 :ig
C16-2 5021 00132191 M16 X 1.5 28 L-8T 6080 00115579 g;?
Z N
s 1
g F
=0
F
S ¥
c v
35
o3
X
53
=3
7
L4
oY
3 E
$7
QF
g ¥
7
~4

sioqiy
N

i

=

<A

pIoH uoiduny  TESHSGENI TN

westh IR NSRS

01033ds | o
TGy @
3 01033ds

=\

pnIS uonUARY
TERN

=
g
S
g
3
=
=)
El
z
2
2.
2

E:NNEN]

BFHmbTABIEEL, /WME';‘E Specials on request




